

$$f_0, f_1, f_2 \dots f_k, \quad f_k = f(t_k).$$

$\} , c) -$

(. .):

$$y(t) = \sum_{k=1}^n c_k \exp(\} k t) \tag{1}$$

(1) $L > n$ $t_0 = 0; y(t_k) = f(t_k)$ $f_0, f_1, f_2 \dots f_k$:

$$\begin{cases} f_0 = c_1 + c_2 + \dots + c_n \\ f_1 = c_1 e^{\} 1 \Delta t + c_2 e^{\} 2 \Delta t + \dots + c_n e^{\} n \Delta t \\ f_2 = c_1 e^{2\} 1 \Delta t + c_2 e^{2\} 2 \Delta t + \dots + c_n e^{2\} n \Delta t \\ \dots \dots \dots \\ f_L = c_1 e^{L\} 1 \Delta t + c_2 e^{L\} 2 \Delta t + \dots + c_n e^{L\} n \Delta t \end{cases} \tag{2}$$

$$x_1 = e^{\} 1 \Delta t, x_2 = e^{\} 2 \Delta t, \dots, x_n = e^{\} n \Delta t \tag{2} :$$

$$\begin{cases} f_0 = c_1 + c_2 + \dots + c_n \\ f_1 = c_1 x_1 + c_2 x_2 + \dots + c_n x_n \\ f_2 = c_1 x_1^2 + c_2 x_2^2 + \dots + c_n x_n^2 \\ \dots \dots \dots \\ f_L = c_1 x_1^L + c_2 x_2^L + \dots + c_n x_n^L \end{cases} \tag{3}$$

x_1, x_2, \dots, x_n

n- $(x-x_1)(x-x_2) \dots (x-x_n) = 0$

$$x^n + z_n x^{n-1} + z_{n-1} x^{n-2} + \dots + z_2 x + z_1 = 0 \tag{4}$$

$$x_i - \tag{4},$$

$$\begin{cases} x_1^n + z_n x_1^{n-1} + z_{n-1} x_1^{n-2} + \dots + z_2 x_1 + z_1 = 0 \\ \dots \dots \dots \\ x_n^n + z_n x_n^{n-1} + z_{n-1} x_n^{n-2} + \dots + z_2 x_n + z_1 = 0 \end{cases}$$

$$c_1 x_1^p; c_2 x_2^p \dots$$

(3):

$$f_{p+n} + z_n f_{p+n-1} + \dots + z_2 f_{p+1} + z_1 f_p = 0 \tag{5}$$

